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GENERAL ENGLISH

Read the following sentence and determine whether there is any error in it. The error, if any, will be in
one part of the sentence. If the sentence is error-free, then select ‘No Error’ as your answer

51.  Despite of the rain, the parade went(A)/on uninterrupted which was followed by(B)/ the
President’s address and other formal (C)/ festivities of the Republic Day. (D) / No Error
a) A b) B ¢) C d)D e) No Error

52.  Lisa is more stronger than(A)/ her opponent”, said the coach(B)/ during the press briefing(C)/
ahead of the Asian Games. (D) / No Error
a) A b) B ¢} C d)D e) No Error

53. 1 lost the bag in which I had my all documents, certificates, and academic records. (A) /I have a job
interview tomorrow where I need all these things, (B) /and I have no clue what will happen. I lodged(C)
/a police complaint, but within this short time, nothingis possible. (D). / No Error

a) A b) B c)C d)D e) No Error

54. The fabric is as softer as cotton, but it is (A) / not pure cotton. That's why she got so many (B)/allergic
reactions on her face after using that mask (C) / and is now under proper medication and care. (D) / No
Error

a) A b) B ¢ C d)yD e) No Error

55. After the(A)/ rise, the (B)/cases started (C)/dropping sudden.(D)./ No Error
a) A b) B ¢) € d)D e) No Error

56. Kiva has loaned out (A) /nearly a quarter of (B) /a billion dollars to (C) / small and medium businesses
for 2005 (D)./ No Error
a) A b) B c) C d)D e) No Error

Read the passage and Fill in the blanks with appropriate words from question number 57 to question
number 61.

The end of World War II was not just the end of a war, but also the (A)  of atense and dynamic
period that affected society on all levels. This “postwar” period, as it became known, shaped the world as
we know it today; likewise, the period was shaped itself both by the war that had _ (B)  it, and the
powerful forces that surrounded it. As the energy of fundamentally different ideologies—Communism
and Democracy— collided with advances in science such as the nuclear bomb, a dangerous environment
ensued that created an atmosphere of _ (C)  throughout the world and especially, within America. This
atmosphere is known broadly as the “Cold War.” While the Cold War played out step-by-stepbetween the
United States and the Soviet Union, it was _ (D)  playing out in the everyday lives of the masses within
their borders. Paranoia, nevertheless, was not an effect that followed immediately after the close of the
War. In fact, the United States had enjoyed an extended period of economic _ (E)  during the war, and
following the war, the U.S. economy continued with great strength for more than a decade.

57. Which of the following words most appropriately fits the blank labelled (A)?
a) Significant b) Advantage ¢) Successfully d) Beginning

58. This “postwar” period, as it became known, shaped the world as we know ittoday; likewise, the period

was shaped itself both by the war that had (B) it, and the powerful forces that surrounded it.
a) Preceded b) Damper c¢) Subsequent d) Arming
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59. As the energy of fundamentally different ideologies—Communism and Democracy— collided with
advances in science such as the nuclear bomb, a dangerous environment ensued that created an atmosphere
of _ (C) throughout the world and especially, within America.

a) Public b) Radical c¢) Politically d) Paranoia

60. While the Cold War played out step-by-step between the United States and the Soviet Union, it was
(D)  playing out in the everyday lives of the masses within their borders. Paranoia, nevertheless, was
not an effect that followed immediately after the closeof the War.

a) Warheads b) Separated ¢) Simultaneously  d) Hiding

61. In fact, the United States had enjoyed an extended period of economic _ (E)  during the war, and
following the war, the U.S. economy continued with great strength for more than a decade

a) Expansion b) Retrospect ¢) Behind d) Repressive

In the following question number 62 to question number 66, a part of the sentence has been highlighted.
You need to identifywhich of the given options can replace the highlighted part and make the sentence
grammalically and contextually correct. In case the highlighted part is correct, mark "No replacement
required" as your answer.

62. Al has been used to develop chatbots that can help employees in find information on subjects ranging
from mental health to saving for retirement at any time.

a) To find information

b) By find information

c) After find information

d) No replacement required

63. Much of what we are doing in increasing atmospheric CO2, extinction of species and destruction of
ecosystems is close irreversible.

a) Israre irreversible

b) Was nearly irreversible

¢) Isnearly irreversible

d) No replacement required

64. Britannia Industries has postponed product launches and expects consumption to revives in the
upcoming 9-12 months.

a) Torevive in

b) To revive on

c) By reviving in

d) No correction required

65. The television industry in India is going through one of its worst years with sales remain most flat
through 2019 despite the cricket World Cup and Diwali.

a) Remaining most flatly

b) Remaining mostly flat

¢) Remain mostly flat

d) No correction required

66. As the largest rainforest in the world, the Amazon is a vital carbon store that slow down the pace of

global warming.
a) Slows down b) Slows up ¢) Slows below d) No correction required
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Read the passage carefully and answer question number 67 to question number 74.

It would soon be Christmas and Harry Kenton, at his desk in the Pendleton Academy, saw the snow falling
heavily outside. The school stood on the skirt of the town, and the forest came down to the edge of the
playing field. The great trees, oak and ash and elm, were clothed in white, and they stood out a vast and
glittering tracery against the sombre sky. The desk was of the old kind, intended for two, and Harry's
comrade in it was his cousin, Dick Mason, of his own years and size. They would graduate in June, and
both were large and powerful for their age. There was a strong family resemblance and yet a difference.
Harry's face was the more sensitive and at times the blood leaped like quicksilver in his veins. Dick’s
features indicated a quieter and more stubborn temper. They were equal favorites with teachers and pupils.
Dick's eyes followed Harry's, and he, too, looked at the falling snow and the white forest. Both were
thinking of Christmas and the holiday season so near at hand. It was a rich section of Kentucky, and they
were the sons of prosperous parents. The snow was fitting at such a time, and many joyous hours would be
passed before they returned to school. The clouds darkened and the snow fell faster. A wind rose and drove
it ‘against the panes. The boys heard the blast roaring outside, and the comfort of the warm room was
heightened by the contrast. Harry's eyes turned reluctantly back to his Tacitus and the customs and manners
of the ancient Germans. The curriculum of the Pendleton Academy was simple, likemost others at that
time. After the primary grades it consisted chiefly of the classics and mathematics. Harry led in the classics
and Dick in mathematics. Bob Turner, the free colored man, who was janitor of the academy, brought in
the morning mail, a dozen letters and three or four newspapers, gave it to Dr. Russell and withdrew on
silent feet. The Doctor was principal of Pendleton Academy, and he always presided over the room in
which sat the larger boys, nearly fifty in number. His desk and chair were on a low dais and he sat facing
the pupils. He was a large man, with a ruddy face, and thick hair as white as the snow that was falling
outside. He had been a teacher fifty years, and three generations in Pendleton owed to him most of the
learning that is obtained from books. He opened his letters one by one and read them slowly. Harry moved
far away into the German forest with old Tacitus. He was proud of his Latin and he did not mean to lose
his place as first in the class. The other boys also were absorbed in their books. It was seldom that all were
studious at the same time, but this was one of the rare moments. There was no shuffling of feet, and fifty
heads were bent over their desks.

67. According to the passage, which of the following word is antonymous to the word 'heightened'?
a) Diminish b) Decrease ¢) Diminished d) Huge

68. According to the passage, what was the difference between the appearance of Harry and Dick?

a) Harry's face was more sensitive, and Dick's features indicated a quieter and morestubborn temper.
b) Harry's face was quieter, and Dick's face was more sensitive.

c) Harry's face was more attracting than Dick's.

d) Both 1) & 3)

69. As per the passage, which of the following is/are TRUE about Dr.Russell?

a) The Doctor was principal of Pendleton Academy.

b) He always presided over the room in which sat the larger boys.

¢) He had been a teacher fifty years, and three generations in Pendleton owed to him mostof the learning
that is obtained from books.

d) All of the above

70. According to the passage, what Dick and Harry were thinking while looking at the falling snow and
the white forest?

a) They were thinking of the cold weather outside.

b) They were busy planning about the Christmas holidays.

¢) They were thinking of Christmas and the holiday season so near at hand.

d) None of the above
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71. What is the curriculum of the Pendleton Academy as per the passage?

a) It consisted chiefly of mathematics.

b) After the primary grades it consisted chiefly of the classics and mathematics.
¢) It consisted neither of the classics nor mathematics.

d) None of the above

72. According to the passage, which of the following word is synonymous to the word 'sombre'?
a) Brightness b) Dull c) Interesting d) Inept

73. As per the passage, what was the 'rare moment' that the narrator was talking about?
a) The falling snow and the white forest.

b) When Bob Turner brought in the morning mail.

¢) When all the boys were studious in the class at the same time.

d) Both1) & 2)

74. As per the passage. which of the following words is synonymous with 'seldom'?
a) Always b) Rare ¢) Slowly d) Occasion

In the following question number 75 to question number 79, a sentence is given with two blanks. From the
given optionschoose the one that gives the correct combination of words that fit in the blanks grammatically
and contextually.

75. In the history of the Jewish people, there have always been freethinkers: Jewswho refused to to
the prevailing modes of thought and in their communities.

a) Confirm, behaviours

b) Conform, conduct

c) Observing, bearing

d) Upholds, deeds

76. Exposure to the wildfires and their toxic smoke causesshort and long-term_ to human lives.
a) Following, benefits

b) Subsequent, damage

¢) Subsequence, damages

d) Consequence, destruction

77. People are being and are dying at an alarming rate from
.................... using their smartphones while driving.

a) Injured, compulsively

b) Injury, compulsive

¢) Injured, compulsion

d) Injuring, compulsory

78. The title of best work of English-language fiction published in the United Kingdom and Ireland has
careers and courted controversy its

creation in 1969.
a) Launch, for
b) Launched, since
¢) Catapulted, from
d) Lifted, from
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79. Abominable is the story of a Chinese girl helps a yeti get back to
its home on Mount Everest, is a collaboration DreamWorks Animation and
China-based Pearl Studio.

a) Who, between b)) Whom, on ¢) Whose, in d) Who, among

In the given question number 80 to question number 83, a sentence has been broken into four parts and the
parts are jumbled Choose the option which provides the correct way to re-arrange the parts to form a
grammatically and contextually meaningful sentence. The rearranged sequence of the partswill be your
answer.

80. Has always been a gap between (A)/ the views of critics(B) /and those of the general public(C)/ it is
true that there (D)
a) ABDC b) CBAD c) ADCB d) DABC

81. A plan to (A)/ to climate change(B)/Russia has published(C)/adapt itseconomy and population(D)
a) BACD b) CBAD c) CADB d) DACB

82. Hope to enjoy total (A) /no individual living in society can(B)/ constraints orrestrictions(C)/ absence
of any kind of(D)
a) BADC b) ACBD ¢) CBDA d) BDAC

83. By punishing wrong doers(A)/ kings should maintain justice(B)/ and rewardingthe virtuous(C)/
Confucius argued that(D)
a) ACDB b) DABC ¢) BDCA d) DBAC

The question number 84 to question number 88 below has two or more blanks. There are four options
below each sentence. Choose the combination of words which can be filled up in the blanks in the sentence
in the same order so as to complete the sentence meaningfully.

84. Data scientists now have unprecedented computing at their disposal, and
they are algorithms that are ever more
a) Prowess, locating, inclined

b) Power, devising, sophisticated

c) Advent, developing, aligned

d) Significance, optimising, accomplished

85. People value their moral__to such an extent that they will work tobehave well and cooperate with each
other rather than risk being  negatively for their , according to a new Stanford research.
a) Reputation, judged, actions

b) Ethics, cautioned, behaviour

¢) Behaviour, berated, attributes

d) Principles, derided, character

86. Many organizations have multiple initiatives to 1mprove performance,
usually within separate organizational groups.

a) Independent, underway, housed

b) Considerable, tailored, surrounded

¢) Substantial, hovering, marginalized

d) Inordinate, surfacing, transfixed
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87. Instead of working on initiatives inside organizational units, companies
have to think about how their operations can contribute to
delivering a customer experience.

a) Sophisticated, sharply, painful

b) Independent, carefully, pleasurable

c) Separate, holistically, distinctive

d) Fraudulent, figuratively, dignified

88. They should focus on entirely the customer experience, which
often reveals opportunities to simplify and journeys and processes that
... massive value.

a) Pivoting, facilitate, translates

b) Renovating, dictate, undermine
c¢) Examining, categorize, upholds
d) Reimagining, streamline, unlock

Choose the one which best expresses the meaning of the underlined idioms and phrases in question number
89 to question number 90

89. Ram sold their house because it was a real white elephant.
a) A rare find

b) Very expensive and useless

c) A very big one

d) A useless one

90. They were having a whale of time dancing and singing.
a) To enjoy yourself very much

b) To enjoy life

¢) To enjoy leisure time

d) To enjoy with loved ones

Choose the one which best expresses the meaning of the idioms and phrases in question number 91 to
question number 93

91. He relied on the word of his friend but his friend played him false.
a) To say one thing and do another thing

b) to deceive one

c) to bring into exercise

d) to act for the benefit of another

92. The phrase, “A hard nut to crack” means
a) an interesting problem

b) a difficult problem

¢) aunique problem

d) asimple problem

93. The idiom “spill the beans.” means

a) To be untidy

b) To be very talkative

c) To reveal something that is supposed to be kept a secret
d) To leave a place quickly
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Select the correct active voice of the following sentences question number 94 to question number 95.

94. The businessman was taken to the nearest hospital by the villagers.
a) The villagers took the businessman to the nearest hospital.

b) The villagers took the businessman to the hospital.

¢) To the nearest hospital, the villagers took the businessman.

d) None of the above.

95. The hunchback was being laughed at by everyone.
a) Everyone is laughing at the hunchback.

b) Everyone laughs at the hunchback.

¢) Everyone was laughing at the hunchback.

d) Everyone laughed at the hunchback.

Select the correct passive voice of the following sentences question number 96 to question number 97.

96. CBI is looking into this matter.

a) This matter is looked into by CBI

b) This matter have been looked into by CBI
¢) This matter is being looked into by CBI
d) None of the above.

97. What will you cook in this pot?

a) what will you be cooking in this pot?

b) What will be cooked by you in this pot?
¢) What will be cooked by you in that pot?
d) None of the above.

Choose the most suitable one word for the given expression question number 98 to question number 100

98. A person who readily believes others
a) Credible b) Credulous c) Sensible d) Sensitive

99. Things that can be felt or touched
a) Palpable b) Pandemic c¢) Paltry d) Panchromatic

100. One who talks continuously
a) Impecunious b) Loquacious ¢) Voracious d) Avaricious
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101.

TBITHD SFARTdr 3R |G 3
QUANTITATIVE APTITUDE & GENERAL KNOWLEDGE

frafefad & oiF-ur g=it dees gri A€ forar man g2

Which of the following is not written by Munshi Premchand ?

a e b=——TleH e ——A5S d. HFWRIER
Gaban Godan Guide Manasoravar
102.  HRd H UyH CefasH SRishH ba YH1id gai?
In India the first Television Programme was broadcasted in ?
a. 1959 b. 1965 G 1976 d. 1957
103. YR & HMADHR fbg- fdbar
Who invented computer?
a.  HEPAWRIS (b Ui UASS |c.  YHY Al TS |d.  dred §dol
Michael Faraday Alexander Gram Bell Thomas Alva Edison Charles Babbage
104, THOT Y gl R ...
‘Garampani Sancturary’ is located at...
la. AT, ORI b, 3%, W [ FifgH, AR | d. TR, RifdeH
W Junagarh, Gujarat Diphu, Assam Kohima, Nagaland Gangtok, Sikkim
105.  HRd I fthed ud didl IRy gl iR R B |
Film and TV Institute of India is located at..
AUy b Ryae e U d. AR
Pune Rajkot Pimpri Perambur
106.  SfIol W fhueh! Aavdll |
The Ozone layer restricts.
a  THUUPN |b IR c. URPRUSR- [d GRS fAfdo
Visible light fafepur a7 fhor Ultra violet radiation
Infrared radiation X-rays and gamma rays

107.  uRfRufde! [y 4 Hafdd 3
Ecology deals with
a udl|b.  waAtHE [ SHRITSWRUSITIEY  [d FHdd
Birds Cell formation Relation between organisms and their | Tissues
environment
108. fd% & HH-U <X 1, T fq=ra g HidR (Y 82
In which country of the world, the largest Buddha Temple is located?

a  OUM, b. SSMRMEL |c. T, China [d YR, India
Japan Indonesia
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109.

a)

b)

©)

d)

110.

‘IPCC> &1 GRT ATH &1 § 2
What is the full form of ‘IPCC’ ?
YR RIS <8 g
Indian Penal Criminal Code

Ry G Id &g SfigTa o

International panel for Child Care

3R1Y g g SfcRigTa Hifer
International Policy for Crime Control
SRy URadH IR SfdRIRBRT 0d

Intergovernmental Panel on climate change

frafafed 8 9 o9-9 srawe & gaHal & SfieR &1 oo fdhar g 2

Which one of the following articles provide ‘Right to equality’ ?

a. ™G 19- |b.  3I®GE20- |c.  IAIDGl4- |d.  TTHI DI G
Article-19 Article-20 Article-14 None of these
111.  YRd & Jgrgard] &t Fgfad fhus gR1 &1 S |
Attorney General of India is appointed by
a.  gdid I & JOTAEA, b, W9g | AU |4
Chief Justice of Supreme Court Parliament Law Minister President

112,

a. WG b. dIuT Veena | c. grafe d. UdR
Sarod Violin Sitar
113.  Fofafad & 3 o19-91 3udg SR 7 & dl Acad HrisH guid a1 g 2
Which of the following Satellite helps to telecast TV Network Programmes all over the country?
ey b. AU | SmuE d.  Zcl-d
APPLE ROHINI ARYABHATTA INSAT-1B
114, Uy # frafefad # 9 fogdn Sudiv fear S g2
Which of the following is used in pencil ?
a.  R®HE b IRPA  |c.  BEHRY [d. UBRES
Silicon Charcoal Phosphorous Graphite
115, Fofafea & 3 o o urg e’ gl g 2
Which of the following is the lightest metal ?
a. ORI b. ferfgs C. DR d. NI
Mercury Lithium Graphite Iron

3ravie 3rett @M el § @ fy arg-d7 3 eifird 82

Amjad Ali Khan is associated with which of the following musical instrument ?
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116. PLC &1 fagd ®a @ g 2
What does the term PLC Stands for?

2.  UoMEdfate b URMWHYER | uRmWEddioe | 4 Ui
SR, Programmable ﬁ'qa'UT,Program W,Programmable DHIdR, Piezo Lamp

Lift Computer List Control Logic Controller Connector

117. dggr 3 =M & JdR &1 391 91 82

The Chandrayann 3 mission’s rover is known as?

a. IEEZ| b U ¢ 3T d. ¢d
Vikram Bheem Pragyan Dhruv

118. 3R 23 &l fbg U | {4171 Srer-
August 23 will be celebrated as -

a 3R b.  dggF3-fead e TIREY |4 R BRCRING]

fda¥, Space day | Chandrayan 3 day ISRO DAY f&dY National Space Day

119, I U SidRel P (gSITgHD), AR Hel W R 8-
Satish Dhawan Space Centre (SDSC), SHAR is situated at-

a  9IgE |b.  HEEMN |c.  3@HCEIG [d. SRl

Bengaluru Mahendragiri Ahmedabad Sriharikota

120. STSSRTTTHTH R ¢ IRNSS is a-
a,  idgd 3Us, b, oiaie c. HAfRE |4 onfeq fawE

Navigation satellite ﬁ-‘ﬂg]:{, Space mission | Mars mission Aditya mission

121.  UR¥g feddry wifer el w fRud 2-

The famous Dilwara Temples are situated in -

a IR [b. IGORME |c.  HeRE  |d.  #&UeY
UG ¥, Uttar Pradesh Rajasthan Mabharashtra Madhya Pradesh

122. G WU frad e fyd §-

Sanchi Stupa is located near -

|a. T, Gaya b. WIUT, Bhopal | c. GRIURH, Varanasi | d. SOTQR, Bijapur |

123.  SIY e fbgeh] QD ol-
Tipu sultan was the ruler of -

a. %3? diq, Hyderabad | b. 14@5\’, Madurai | c. flﬁ( Mysore Jd AR, Vijaynagar |
124, Y ETZC B FMPEAQ -

What is Half Byte-
a. fhaarge, b. foe, Bit c. s, Nibble |d. 19 G PIg o}t 71e,
Kilobyte 1 None of these
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ST ST &1 YHF ATH 1 @ -

The common name for Baking Soda is-

a. WifeTy b. Wfeuy c. DR SRDHIEMCS, | d. HIRAH BT,
Wlﬁ?, Sodium a@mﬁ‘ﬁa Sodium Calcium Bicarbonate Calcium

carbonate Bicarbonate Carbonate

YR Y AT 3febleH! DIH-1 g H RRyd g2

The Indian Naval Academy is located in which state ?

Mdl, Goa |b.  [AYRAMUEH |c. bR, d. TIPS ARl

Visakhapatnam Kerala None of these

el fgRUT P I bt Is # Ry g2
Blackbuck National Park is located in which State ?

a.  HRIY b. ORI c. HAWW |d. IWES
Maharashtra Gujarat Madhya Pradesh Uttarakhand

ol Hifq &1 T fhgd faer o 3-

Golden revolution refers to the development of-

g oaeed e IR e e | e

Oil seeds Horticulture Pulses Cereals

frrafefad 7 9 ®19-91 sifwde dfdur # Hiferd ddoy A Haifdd 82

Which article of the constitution deals with fundamental duties?

a.  9J®G 51T |b.  S®G25 |c.  SIWGES0 |d 3G -30T

Article 51 A Article 25 Article 50 Article 30 A

UNEP &I QT ATH &1 § 2

What does UNEP stands for ?
a. Y Y UUIGRU HUDHH
United Nations Environment Programme
b Y Y e srisH
United Nations Education Programme

United Nations Electronic Programme

d. 0 9 D5 8! None of these

[31.  666+6-=3=1
a. 37 ; 333 . 111 d. 84

132. 856973 H 3id 6 &1 RITHG M 3R 3ifdrd A & &g fordAr siax grme

The difference between the place value and the face value of 6 in the numeral 856973 is.
a. 973 b. 6973 G 5994 d. None of these
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133,

ey BT 3YY -1 7T 8

The smallest prime number is

a.

0

jb.

E

|d.

134, 1056 H M-I WEm S8l e, aifes 39 Wen & 23  quid favifora fasar s ga?
What least number must be added to 1056, so that the sum is completely divisible by 23 ?
a. 2 b. 3 (¢ 18 d. 8
135.  SfIUId 5:4 &I WiIRd =4 gI:
The ratio 5:4 expressed as a percent equals :
‘ a. 12.5% b. 40% c. 80% d. 125%
136. .34 DI 15% Ufd=rd &1 g 2
What is 15 % of Rs 34 ?
a. Rs 3.40 b. ) 7 Rs. 4.50 d. Rs. 5.10
137 ofi =614
a. 60 b. 70 C: 50 d. None of these
138, dfe oa g, fashd 7 &1 96% @ o arH Ula=id &1 grmi?

If the cost price is 96% of the selling price, then what is the profit percent?

a.

4.27%

b.

4.17%

C. 4.37%

d. 4.67% }

139,

D1 3FIUT T G2

gfe dH BRI DI 7 BT AT 5:4:6. 8 | THH G 700 B & [ 39 R ferg 0w

The Speed of three cars are in the ratio 5:4:6. The ratio between the time taken by them to travel
the same distance is:

a.

5:4:6

b.

6:4:5

C.

1012215

d.

12:15:10 ‘

140.

The average of non-zero number and its square is 5 times the numbers.

U TR Y W1 3R IGP a1 b1 30d 39 W& &1 Uid 7T § dg WS adr ghf |

The number is

p

9

b.

137

C.

29

d.

23

141.

F. 12, 500 HIYRUI TS &1 e T 4 JTd § .15, 500 B ST & | ) TS &3 R NI 2

A Sum of Rs 12,500 amounts to Rs 15,500 in 4 years at the rate of simple interest. What is the rate
of interest ?
\ a. 3% b. 4% c. 6% d.

None of these |

142. U 3R &l UHu1y fAraedr us &1 &l 4 {9 T guf axd g1 3fe U sl 39 BRI bl dxl o
12 f&7 A Fear 8 al ot 39 & &1 fhda faa o gof

A and B together can complete a piece of work in 4 days. If A alone can complete the same work
in 12 days, in how many days can B alone complete that work.
l a. 4 days b. 6 days ot 2 days d.

None of these
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143, o T &1 Ta.Hluw 23 g 3R 3% UA.Hl.UH & 39 g1 U W13 3R 14 g1 370 dl
3T 1 ﬁTﬂ :
The H.C.F of two numbers is 23 and the other two factors of their LCM are 13 and 14. The
larger of the two number is :
5 276 [ By . 299 | 322 [, . a8 |

144. Tl omad 1 caTs D1 SNyl DR fadl S qy1 3! Aers & o[t &R <t Siie o, ¥
&t al H fobaT ufdrere 3R g 2
The length of a rectangle is halved, while its breadth is tripled. What is the percentage change in
area ?

a. 25% increase b. 50% increase c. 50% decrease d. 75% decrease

145, 750041250+ 50)=12
a. 175 b. 300 C. 6575 d. 7525

146. oot HUTt Pt 3T UAS U I¥ & UYTd g 81 Ol g | AfG SRIVE S % 4
ARG ¢ dl, Ul ay & GYTd IUD! 3 &1 gl

Income of a Company doubles after every one year. If the initial income was Rs 4 lakh, what
would be the income after 5 years ?

a. 124 lakhs b. 128 lakhs e, 252 lakhs d. None of These

147, . 10 cmx4cmx3cm_§_€aﬂq§m Wam'?

Find the surface area of a 10 cm x 4cm x 3em brick?
a. 84 sq.cm b. 124 sq.cm c. 164 sq.em | d. 180 sq.cm

148. 3 & YT U TUIDT BT S{Id 1 |

The average of the first five multiples of 3 is
a. 3 b. 9 6. 12 d. 15

149,  75° H fdda &g gl

How many radians is 75° 7
a. 3n/12 b. 2n/1 | c. Su/12 d. 6n/12
2

150, T} TG BT 48%, 1248 | A8 TS &1 82
48% of a number is 1248. What is the number ?
a. 2600 b. 2700 o3 2850 d. 2450
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WA gfes wd difde aivgar
GENERAL INTELLIGENCE 8 REASONING

1670 Sl 80787 31 8B 82180 & L B T H 3ITCH 3h hicd-HT HTTI?
Inthe series 3087 81 381821898 i et Which number will come next?
a) 41 b) 33 c) 43 d) 35

152, fAsafaf@d ufdsu & S@ai adTu foh 3{ehl BT AT SNST hid-TT BIaT?

Look at the pattern and choose which pair of numbers comes next?
SO B2 27008 maHdn

a) 52 55 b) 51 57 c)53 56  d) 3udh A & @IS el None of these
163, fAeATe@d e Y g &-

Complete the series
SERElEREUGH sl WKL
a) CMN b) UJI c) VIJ dy|JT

154, AR : AR TH: ?
Peacock: India :: Emu: ?

a) 3¢ forar Australia b) 31AR®T America  ¢) ¥ Russia  d) 39aig England

155. US : S9Tel  ©91H ; ?
Tree : Forest :: Grass : ?
a)aIfar Garden b) Tk Park c) offeT Lawn d) Wd Field

156. HISHhIBI: ol ;- ATShIEDIT : ?
Microphone : Loud :: Microscope: 7
a)oldl Tl Elongate  b) &18T &l Magnify  ¢) Sild @ Investigate  d) G@T Examine

157, AAcAfeqar @ & 3¢ YR @4iAd ¢ f5d R ‘Rebew’ .. A
‘Ophthalmia’ is related to ‘Eye’ in the same way as ‘Rickets’ is related to

a) &l Kidney b) @S %l None  ¢) g&d Heart d) 331 Bone
168. ‘Ugel ‘A’ A 38 YR Hafdd & o g ‘@ ... A

‘Reading’ is related to ‘Knowledge’ in the same way as ‘work’ is related to
a) 94 Money b) 3Hd Experience  ¢) UK Employment  d) <d¥&ddl Engagement
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g&1-RIg &Y S9TE U =T HATEIM? Which will replace the question mark?

AN

a) 25 b) 37 c) 41 d) 47

160. UH-TRIg & ST9T8 U &1 HTUI? Which one will replace the question mark?

23 Al 46 10 82
i, Vs
=8 77 .
a) 94 b) 92 c) 72 d) 82

161.  UH-Tg &6 Sore W aam Hrwan?
Which one will replace the question mark?

a) 41 b) 64 c) 35 d) 61

162. fReafaf@a Yars A qoif & gear aasu|

Count the number of squares in the given figure.

a) 32 b) 30 c) 29 d) 28

163. usfAg 6 STE PlaT-Ar 37 3TTIN?

Find the missing number 8 12 ?

6 9 15

a) 20 b) 25 ; ; -
c) 28 d) 34k # ¥ @IS A% None of these

164, 3ITell 3id Pi-AT ITTI? Find the missing number

3, 10, 13, 26, 29, B8, 81,5/ toveiviyenmsaiizesiiis
a) 108 b) 122 ¢) 118 d) 116

165. UG dhl STIT8 Did-GT 3 HTTI? Find the missing number

20 8 10
15 30 "
5 6 10
a)3 b) 6 @) 22 d) 12
Advt. No. SAC: 01:2023 Post Code No. 01 Asst Raj Bhasha-A

Page 22 of 28




166. fAeafaf@a ereel o v arefes ohaf 31 efom-
Arrange the words given below in a meaningful sequence
1. AUsq Word 2. 34?_[1%3 Paragraph 3. didd Sentence 4. 3181 Letter
a) 41,23 b)id.1:8 .2 ¢)4,2/1:3 d)4,1.3.2

167. TAFATATET Qreal ol Ueh T1¥eh ehl H IITT-
Arrange the words in a meaningful sequence
1. ©¢ House 2. 9TdlT Street 3. aRT Room 4. 2@ Town 5. T3TelT District
apdeZ 1id:h b)8i20d4v6 ¢yl dr2eh d)3,1:2:6 4

168. fasafaf@d el ot v ardies s 3 SroTro-

Arrange the words given below in a meaningful sequence
1. uR@r Family 2. @&~ Community 3. H&& Member 4. HigedlT Locality 5. &’ Country
a)5.1.2.54 b) 3,1,4,2,5 ghalh 4ih2 d)dl2a.5

169. o0 & 13d 3187T 31 a0 @ 49 378 & N  pla-ar 378} 87

ABCDEFGHIJKLMNOPQRSTUVWXYZ
Which letter is in the middle of 131" letter from the left and 4" letter from the right?
a) | b) J c)R d) S

170. IS UAP A A Ugel 3R G 378 &1 TATT 3UH & deol &1 S, df a4 f=arg &
fAFATITRT H G AT Ueh ATYH Qe JATTIN?

If the positions of the first and third alphabets of each of the words are interchanged, which of
the following would form a meaningful word in the new arrangement?
RAL BUT CAR NOS HID

a) HID b) Both BUT and NOS  ¢) RAL d) Both BUT and HID

171. fAeATaRad s@en 3 yarfg & ST9Te chled-AT 38T 3TTIN?

Find the missing alphabet in the given sequence.
ACE Y B G WD
ayE 5 e ClvA dytF

172. o &l &1 dfeh 3, War ard R & 1913 3R grd X @ 312d v o1 38 &1 39 dfes A
AT hY Goel HLEAT &l UdT Sfamy |
In a row of certain persons, Sita is sitting 191 from the left end and 312 from the right end.
Find out the total number of persons in that row?

a) 402 b) 413 c) 408 d) 3Uh 3 ¥ DI$ w781 None of these

173. T - &1 AJAD “SNSAT” ; X" &1 AT “HIIT AT ; “=" T ATAd “IOT AT 3N “+” &
AT ‘T &,

If “" means “plus”; “x” means “divide” ; “+" means "multiply” and “+" means “minus” Then
26+400x20-21+12 =7
a) 256 b) 219 c) 216 d) 230
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174, 3IR L ‘X QAT g M = giar g, P '+ &Qfar ¢ 3R Q ~ gt &, af Reafaf@a o adae
AT BII?

If L denotes X’ ; M denotes ‘+', P denotes ‘+' and Q denotes -’ then

1MBP24M8Q6 M 2L 3 means
a) 13 b) 10 c) 8 d) 14

175. 3R “# &l AdAd "G ; “&” BT Adeld “HIIT AT ; “@” & Aderd “SNaar 3R “%” &1
HdoTel “TOT hLeAT” &,
If “#” means “subtraction” ; “&” means “division” ; “@"” means “addition” and “%”" means
“‘multiplication” then

516 &6# 11 @50 % 4 =7
a) 210 b) 274 c) 250 d) 275

176. Ueh HEIh TS e Pl 7 &l GRAcAT | STel BT GIUe 3 2 o1 &l JHY &AM, &Y 6 ol et
Retelt Rt eom?

An accurate clock shows 7 O'clock in the morning. Through how many degrees will the hour
hand rotate when the clock shows 2 O’ clock in the afternoon?

a) 150° b) 210° c) 160° d) 3udh H A BIS el None of these

177, Ueh G2Y QIUE 12 991 Y& g3 1 5 Iofe 10fReAC U 6 &l e foheial ol ggian?

A clock started at noon. By 10 minutes past 5, the hour hand has turned through;
a) 145° b) 150° ¢} 1565° d) 160°

178.  Ueh 3T giayor faem #t 5 fob.#f. wroreh gl a1 &1 3 foh.afl. woradl & a1g, ag a1v 33 SI1an &
3R 5 foh. ). gerdr &1 39 ag 3ua URiAE 19 8 g fem 3 wsr &2

A man walks 5 kms towards south and then turns to the right. After walking 3 kms, he turns
to the left and walks 5 kms. Now, in which direction is he from the starting place?

a) uf&I9T West b) &f&ToT South c) diaX North-East  d) T&1or-uf&a South-West

179. fAefefad Tt & fhaa s §2

How many triangles are there in the given figure?

a) 28 b) 24 c) 25 d) 26

180. fAFATATET H@ell #, Reh TATA U AT HTAT ATTRU?

In the following series what number should fill the blank
Ty e , D8, C16, B32
a) E4 b) A16 c) G4 d)yE3

181. TeAff@d H@en #, Reb €U U= &1 3771 A1fR0?

In the following series what number should fill the blank?

a) < b) 3 c)6 d) 27
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182, fAsAfaf@d s@en 3, Reh €41t U &1 3771 ATfRU?

In the following series what number should fill the blank?
124 10D il T4 ne bine Aol b

a) 70 b) 75 c) 78 d) 34h A ¥ IS a6l None of these
183. TAsafaf@d s@er #, b €A1 U &1 31 arfgu?

In the following series what number should fill the blank?
0A6:0:8 00 e 2120 204
a) 4.8 b) 0.006 c) 0.6 d) 0.9

184. fAeaTaf@d & § g Aol & = 3mTanm?

Which one belongs to the same class ;
af8d Basic, UREhd Pascal, WIgid Fortran

a) @l Cobol  b) HITTel Bhopal c¢) hepelex Calculator d) 3uw # § @IS =& None of these

185. MO: 13 11 ::HJ:?
a)19 17 B)18:16 @) 810 d) 16 18

186. 9:8:16: 7
a) 27 b) 17 c) 16 d) 18

187. fAeafaf@a & @ fAwa g1 Find the odd one out
10, 25, 45, 54, 60, 78,80
a) 10 b) 45 c) 54 d) 75

188. fAF=AToIf@d # @ fawsr 91| Find the odd one out
41548 47 63161 7,573 81
a) 61 b) 71 c) 73 d) 81

189. HIST HIAIR &, 61 & d1e led-H1 ar §?
Today is Monday, after 61 days it will be;
a) ¢Ydi Wednesday  b) AR Saturday  ¢) F9TeldR Tuesday d) 9[&dX Thursday

190. fasafaf@d el ol e |1 shd 3 ofam-
Arrange the words given below in a meaningful sequence

1. &ael Table 2. U8 Tree 3. dlehs! Wood 4. d15T Seed 5. Gidr Plant
a)1,2,8,4,5 b)1, 3,2, 4,5 o) @280 d) 45,821
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a6 & ShH b YR W 191-194 Ul & IR G-
Answer the questions from 191-194 based on the following sitting arrangement

i ofsfehal wiel feaaret & forw e de ux 48T &1 Hi#HT el & ard 3R g & ard & &1 Hy
AT & a1 4 &1 A1 Tell 3R AY & i 481 8

Five girls are sitting on a bench to be photographed. Seema is to the left of Rani and to
the right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary.

191, qd1 & g g i 98 &2
Who is sitting immediate right to Reeta?

a) fdig Bindu b) T=T Rani c) T Mary d) HAT Seema

192. Il & dg A i §2 Who is in the middle of the photograph?
a) fdig Bindu b) T Rani c) {ldT Reeta  d) AT Seema

193. &/ ¥ @ ¥ W i §? Who is second from the right?
a) A Mary b) =T Rani c) {IdT Reeta d) feig Bindu

194. T ¥ gEY T W HlT §? Who is second from the left in photograph?
a) {IdT Reeta b) T Mary c) fdgBindu d) €A Seema

195. fAFATATET @l ol QU &Y Complete the series

OQ.AAAD?

2)

[l
4)
o
6} 3

196. IR ‘AT &l T el ST, T Dl Hhe', Whe' I ‘dier’ 3N drel’ &1 ‘U, AT gY &l 3T
T I

If ‘Blue’ is called ‘Green’, ‘Green is called ‘White’, ‘White is called ‘Red’ and ‘Red’ is called
‘Yellow’, then what will be the colour of milk?

a) "hg White b) &1 Green c) del Yellow d) @Tel Red

b) 2 d) 4
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197.  Qar’ S’ @ 3 Yo HAA & Tod U Qe ...

‘Wall' is related to ‘Brick’ in the same way as ‘Book’ is related to
a) UeT Page b) {Teg Word c) thel! Story d) i@ Author

198. fasAfaf@d Y@ #, Rasr wsai’ o ufdfafica odr &, adf f@anfsal & 3R g o
T | 3@ Bl Dld-HT HIIT e elSehi ol UTATATca et &, S T@erel & fohf ahrer «1¢ &2

In the following figure tringle represents ‘boys’, square represents ‘players’ and circle ‘coach’.
Which part of the diagram represents the boys who are player but not coach.

e Coach

F
-

E
7% \\
/ 8 s " 1+ Players

a)B b) C c)D d) 3ﬂ'§‘rﬁ A @ 1S A% None of these

199. faeAfaf@a Tarfaa &, sl T eal ol aufdn &, THebIvT gopef eafhal el 3T g geut
| 3eT GRUT bl H&T T &, ST T & elfehet e AL &7

In the given figure of triangle represents healthy people, rectangle represents old persons
and circle represents men than what is the number of those men who are healthy but not old?

a) 3 b) 4 c) 6 d) 2

200. fAFATaf@a 3 & &1 HIHE B HIT T8l &2
Which one of the following does not belong to the group?
a) ATSHT Mica  b) TSid Zine

c) @ll&l Iron d) &Felli¥el Chlorine

Fedkdkkdkkkkkk
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Y% &4 ROUGH WORK
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